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1|FLE FLIR =555 5 (1) K 3.60
2|k (ﬁ)z%vﬁm kg 1,560.00
3| T HERL (k) Hiil ik kg 1,398.00
41H0L (BK) Al kg 97.00
5L FLIR =575 5 (%) kg 260.00
6| —~ FLIRE =5 5 () kg 320.00
7172V "B (Bk) 7 vvaa KRG /KpE kg 2,300.00
8| =—L &% FLIE *%%5& (BR) kg 575.00
INIZTIFENCA LA S (FK) kg 333.00

10| B CTADFE H K%%ﬁuﬂu (k) ] 159.00
11{&»UB (BR) 7o aa KB K E kg 1,300.00
12|45 BRELETE H AR SKAE £ (BR) 1 40.00
13FH AL LR =57 R (BR) kg 745.00
14| N (B Hiil ik kg 125.00
15[125 FLIR =55 75 5 (BR) kg 1,120.00
16|LLEDET- FLIR =557 5 () kg 1,850.00
IVIEES FLIR =5 & (%) kg 80.00
18| x> (BK) Al kg 74.00
19[LHA FLIR =5 & (%) kg 370.00
20[7>.55 (H%)#ﬂ@ kg 338.00
21| KR FLIE =55 1 (BR) kg 84.00
2|77 4= FLIR =557 5 () kg 1,450.00
23| Z1FEH (k) il Bk kg 178.00
24| B FLIR =57 3 () kg 315.00
25| E% AL ‘“355'& (Fk) kg 85.00
261 JIX (B Al kg 358.00
27|50 1 (B Al kg 450.00
28[F~h FLIR =55 5 () kg 480.00
29[2=h~F FLIRE =5 5 (BK) kg 840.00
30/ FLIE = %%%(1%) kg 550.00
31| ADHE FLIR = 5571 5 (1) kg 1,150.00
32| EMEE (H@*ﬂ@z kg 738.00
33| ZDXE FLIR = 5577 5 (1) kg 240.00
34| S SV (%) Hﬂj:ﬁuu kg 340.00
35[0 A FLIRE = 4575 5 (k) kg 295.00
6| SLvTFLLY (Hﬁ)*ﬂ@z kg 356.00
7L~ (BK) Al kg 424.00
38[AL (B) Kl kg 458.00
39|23 FLIR =5 5 (%) kg 196.00
40| \AL T )V FLIR =557 SR (BR) kg 186.00
4|FIATN— FLIR =50 5 (BF) kg 565.00
42|14 H o B —1 (BK) kg 2,080.00
43| A b B—hBR) kg 1,080.00
447 LA b B —b (BK) kg 2,000.00
45|~ —z o B —b (k) kg 1,480.00
46| 7V T R R AT AL | A 42.00
47[FSAA () 7R )\& e 300.00
48| .50B (BR) 7 aa KRG /KE kg 1,160.00
Y[hshiexly AR AL T3 (BR) 48 870.00
50(7Z&K LR HEH () a—U8 kg 446.00
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P Ea BELEE 4 AT A
51| KT FLIE = 5 3 (BR) kg 243.00
52[1xH Ao (B)=2—URM PN 430.00
53|BER D= U P (1K) N 880.00
54| Y TAAD A (BR) & L& kg 640.00
55| FEH A H AR & (BR) {E] 888.00
56[fyF—A H AR S A0 (BR) A 313.00
57| HEFUKAR LR = 2575 51 (BR) kg 476.00
58| TR JE JgE J H AR # B0h (BK) N 538.00
S HIEYIV A b = (BR) kg 1,080.00
60|HLNE T AL ) — b B —b (k) kg 1,100.00
61|F 7 YA FLIR =50 5 () kg 394.00
62[n AL H AR H B dh (BK) 1l 29.00
63| (BK) Al g kg 138.00
64| VAT AIKE: LR =5 7 R (BR) kg 396.00
65| =y H AR E &0 (BK) & 8.00
66| FA (BR) 7 v aa K& /KE kg 1,500.00
67| A =AY T— H AR/ 0 (BR) s 582.00
68[7=V A (BR) 7o aa KA K E kg 2,400.00
69|V VAL T A AR b (BR) {E] 48.00
DTS =-Z40) () IR\ & kg 5,800.00
TR A R 8t H AR B (BR) A 550.00
T2 FEBALAT —F ) — R e S) N 925.00
T3[R (B)2—UR MW 1 58.00
EIPES FLIE = 43 51 (BF) kg 340.00
75|oFea—s Lk 4%/77;-%%@%&% L FER | H 82.00
76| AT — 7 —F PR A i 35 (BE) kg 4,760.00
1T x ) —A (BF) & L& PN 925.00
78[4b b I A b B —b (k) kg 2,080.00
9|ZNEYYTH PR T3 (BE) kg 740.00
80| —~ (B Al kg 780.00
81|Ama— ¥y A AR & (BR) & 79.00
82|fit7L—7 (A)=—U g ] 740.00
83|14 —"71H BELAY R i T3 (BK) ZN 700.00
SA|TAL I 7 r—% (F)za—URMm {E] 570.00
85| Xy FakL i T H AR/ oL (BF) ZN 625.00
86 | fifi FLIE =557 21 (BR) kg 340.00
87| [ - H Ziﬁ%ﬁuu (#k) KR 725.00
88|z F v H AR AR £ in (BR) 1 282.00
89[> DIE (KK B FH P kg 90.00
90| KT /K& H AR E /& (BR) A 463.00
91|71 F (B)=2—URM S 770.00
92[pit —~r (B Al kg 780.00
93| /K3 (B Al kg 598.00
94| 4 JI\ ALIR = 2575 3 (BR) kg 243.00
95 [MMIEHLRYTH H AR B (BR) s 775.00
96[H LA (BF) 7 raa KgAK FE kg 1,400.00
97K TT e —A{EG) A b B —b (BK) kg 1,380.00
98| 4FF 7V YTy R RS TR | 42.00
Y[H AT AR — T AR H AR B (BR) 1 1,110.00
100|148 E47 (BK) Al gk kg 156.00
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P Ea BELEE 4 AT A
101|F V7T FLIR = 5575 SR (1) kg 770.00
102|V—71L %A LI =55 3 (BF) kg 575.00
103|242 — 2V A b B3 —h () kg 6,000.00
104y ZER (B)=2—URM Git] 600.00
105| W R £ (X AD) H AR & (BR) 13 330.00
106|722 L E bbb A b B —1 (BE) kg 1,180.00
107NN ) ——aa w7 () A B (BR) {E] 62.00
108| MR O &aayr A B (BR) 1 50.00
109|¥ BRL U A H AR/ (BR) kg 500.00
L10| B e HH LT P —h H AR/ oL (BK) 43 538.00
111 {7 BB R B H AR E &0 (BR) % 490.00
12| R EJE L) FE H AR/ oL (BK) 4% 409.00
L3[BT M- 50T L —2 A B | H A (BF) A 532.00
LA[B B INET T A N—T WA B (B 1 108.00
15| HE & F— X754 B4 () 1l 122.00
116|FFLFE R DR (B) ‘& L& hh S 855.00
HT|EEe— AR YT 7 o B —b (k) kg 1,480.00
L8| 3EH A Y — A (H)=2—URMH 18 1,180.00
BEIN NP TOES (F)2—UR M N 1,300.00
120| BRI EY DIE T () =2—URM 18 348.00
121|H) fakhiEB (Bk) 7 voaa Rig/KiE kg 1,300.00
122|H)FAHAIEC (Bk) 7 vvaa KK pE kg 1,300.00
123|1H9°< (Bk) 7 voaa Rig/KE kg 800.00
24| NI AN Ly H AR SRR £ (BR) ZN 775.00
125| e E Y (BK) Al kg 650.00
126|755 e A AT —F% b FI—h(#K) B 68.00
127|HFLEE—F =Ly vy (BF) & L& PN 700.00
128| 7 /L —F = (I J A~ —) (BR) & £k 18 700.00
129|7-H X H KA (B Al 4% 1,650.00
30| tu5 ol (FR) & R b 15 800.00
31K —AR v~ b B —b (k) K 138.00
132|/3FF ALk (F)=2—U M & 76.00
133|777 Xy by a—RA (— ) Bl = ALIR S5 P 1 72.00
134| 7 e Ty 7k PP (BR) A 800.00
135z —b— T ALAE} ()2 —U R 1 76.00
136|IB I LS T - S0 F— XA LY | H AR A (B) 15 559.00
137\ X A A E)E ()2 —U R 13 740.00
138 ER T & KT H AR E & (BR) 13 1,188.00
13957 L& SAE (¥R) 7oomaa Kig/KE B 136.00
1408y B Heb b AT — [ b B —h(BR) e 110.00
41| ) F AN D BRL YT (BR) & L& Z 700.00
142|717 BV —D 3 (AT T)L) H AR E &0 (BK) A 650.00
43| RS ST (F)a—URih kg 724.00
14488 E R F 2V (BR) ‘& &5 N 745.00
145|595 %] K& LR =5 7 8 (BR) kg 367.00
46|~ A —F D3 (BR) ‘& &5 e 1,250.00
147|4RT>oB (A) IR )\ & kg 4,300.00
148|§RT>>C () R )\E kg 4,300.00
149|$R e OHh 1-EAMUEB (A) IR )\ & kg 4,600.00
150[> ~ 7 7 P s C (BK) 7 Voo KRG KE kg 1,600.00




THAFETIOAMA Fe AL ALEALZR (REH)

P Ea BELEE 4 AT A
1B EITH B OLEL Iy P — H AR E & dh (BR) = 669.00
152\ A A > T H ATV — A (Bk) ‘& LA b & 240.00
153|337 DFE (T H) H AR ZE &0 (BR) 48 1,375.00
154|ZERINT TV DFE (BR) & b N 835.00
155 | A= M kit () za—URMm 13 340.00
156|589 FLIR =55 5 (1) kg 480.00
157(C=23 (B Hldl % kg 117.00
158| A—2 A FLIR =55 5 (1) kg 156.00
159| /==~ RF— R — & H AR &0 (BR) ZN 550.00
160 | LLFLER & Rk EE ) 1l 75.00
161 | ELE - KRISEEFITEA (H)=2—U &M B 196.00
162| 7 A7 (B)=2—URMN 1l 168.00
163 —ANLAZT A 2 b = (BR) kg 1,250.00
164|5 BN AN K BETE H A5 # B0 (BK) 4% 525.00
165|HO SO —I—KL w7 (BR) & L& ZN 750.00
166| 4L xodHE (H)=2—URMH 18 380.00
167 T8I0 875 (B) ‘& L& N 280.00
168|/METF-) VAL A= 2 ()2 —U R S 290.00
169/ & AR (F)2—UR M N 130.00
170[&>F g FLIR =5 7 58 (BR) kg 290.00
1717V —2 T AT H A (k) Hiil ik kg 1,660.00
172[LALD L FLIR =55 75 5 (BR) kg 570.00
173 %8 EL (— ) Bl AL 2 1 93.00
174[r=F2—L—31F () a—U8 1 210.00
175\ F Byt (F)a—UR b ZN 260.00
176| AT DATA AT — K (— M) Bl s S AL S T e 44.00
1T EZ D (BF) & L& 0% 1,980.00
1787 L — R —>)— 2 (F)za—URMm 18 433.00
17919 AL —T L —2 (BR) & L& N 660.00
180 A5 2 Fi ekt (F)za—URMm 18 395.00
181|7FART—U>Z H AR/ 0L (BR) 43 588.00
182(B S s oRh (F)a—U R N 1,210.00
183| W O LI H A% # B dh (BK) 4% 700.00
1841 H AR ZE &0 (BR) kg 104.00
185 —7> H AR/ oL (BF) kg 750.00
186|/)MR 2 — H AR & (BR) {E] 24.00
187|700 HH 3 Mk (B)=2—URMN N 19.00
188|720 LB i — L A— (k) & A ALg = T 1 105.00
189/ U EIFLABL BAT £ b T3 (BR) kg 640.00
190 H kY — () 2—URMW 1 168.00
191| 7NV =R p—H— (k) & A AL = T 1 125.00
192| 4Ly o B —F () kg 9,000.00
193 | I e LI 1 fk (F)a—URih A 368.00
194 KGI— (F)a—UR M ] 185.00
195/ S & 7= A IEE Z 13 A (k) B A LR = 3T 1l 176.00




